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= 35,077 35,077 0
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2 S5=2g4l 165,000 174,992 29,992
SERS 165,000 174,992 A9,992
DAN & 2ASEAN RELES 58,000 67,992 29,99
-gt 34 51,928,000 51,928 61,920 29,992
204 MR A 28,000 27,600 400
2 SELREH 28,000 27,600 400
NRYE3L Z& 28,000,000 28,000 27,600 400
KAl Mg Fel 67,761 74,081 26,320
NLAl Mg Fel 67,761 74,081 26,320
201 el 41,190 47,510 26,320
01 At2t2ltl 33,385 39,705 26,320
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01 At2teltl 2,442 3,7% ~1,353
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Y2 AU (M) 34,883 73,551 133,668
=3l 34,883 73,551 138,668
JlI=2&Hl 34,883 73,551 138,668
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202 0| 7,700 46,368 138,668
01 2oL 7,700 46,368 A\38,668
@ EF0| &3 7,700,000 7,700 46,368 38,668




